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Z#X 9-1-7

SRR O HB AL (FTETAS 0D fo i B KAL)

ERNRLELST—R ERPRLECGDT—R
RER| TEHA - — RER| THEHA
BFRRIZEIT 5K ORKIE(T.P.m) BERICE T HERRKMEOKRKIET.P.m)
iAo 2.7 [FO1,F02FO3iEEH)] ~ 12.0 [FO2F03&H] Mg 2.3 [Fo06'] ~ 8.3 [Fos6)
a8z 2.6 [FO1,FO2F03iEE)F09] ~ 6.3 [Fo9] RTHET 2.1 [Fo6'F06] ~ 5.8 [F06]
e ALXHT | 4.0 [Fo1] ~ 20.6 [Fo1] HFEET | 2.8 [Foe] ~ 7.6 [F10]
~ FRELHET | 24 [Fo1F09] ~ 12.7 [Fo1] FEFHET 3.6 [Fo6) ~ 20.2 [F15]
F R ET 2.6 [F09] ~ 9.7 [Fo9] AR | 7.8 [F15] ~ 26.6 [F15]
1SR S BT 5.8 [FO2F03iE %) ~ 86 [Fo9l - Akt 3.7 [Fi5] ~ 19.3 [F14.512]
KRG HT 5.6 [FO2F03:&EH] ~ 7.9 [F02F03:&H) HFNET 49 [F12] ~ 7.9 [Fi12]
3= Bl BT 5.6 [FO2F03:&HEl) ~ 7.3 [Fo2F03:&HE)) = ET 3.5 [F145812] ~ 155 [F14512]
#MWLAF | 40 [Fo2F03:&EH)F03'] ~ 6.4 [Fo9] [Fipdia) 5.7 [F12] ~ 18.1 [F145812]
B SFIRET 2.7 [Fo9] ~ 82 [Fo7] EMMET BERGL
ERIET 3.3 [F09] ~ 7.6 [Fo9] % &RET 3.7 [F14s12) ~ 18.9 [F14.512]
INEET 4.4 [Fo1] ~ 11.0 [Foe] S8t 5.1 [F14s12] ~ 24.4 [F14512]
Bt 3.8 [Fo1) ~ 10.2 [Fos6] BB | 45 [F14s12] ~ 26.9 [F14812]
HERT 3.8 [Fo6] ~ 15.9 [Fo6] Z ERET 45 [F18] ~ 13.6 [F18]
S axm 3.4 [Fo6] : ~ 18.4 [F06') . JTZEHT 3.5 [F18] ~ 158 [F18]
FLiETH BEHGL [EiRERET BERGL
+ /=T 4.8 [F17] ~ 126 [F17]
B AT 4.0 [F14812] ~ 25.2 [F14.512]
_— NE 5.8 [F14512] ~ 11.0 [F14.512]
FARITET 51 [F17] ~ 26.3 [F20]
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AT 0 [Fo1] ~ 16 [Fo1] M@ |17 [Fo6,F06') ~ 47 [F06,F06)
2= 0 [Fo1] ~ 1 [Fo1] £mHET |12 [Fo6) ~ 24 [F06,F06)
— 2L HET 0 [FO2FO03:EE)] ~ 1 [FO2F03:E#)] HERT |11 [FO6,F06) ~ 16 [F06,F06]
T [mE=+1E] 0 (Fo1Fo2Fo3EE]  ~ 13 [FO1) EAET | 5 [FosFo6] ~ 13 [F06']
F| 5 BT 0 [FO2F03:&EH) ~ 6 [FO2FO03:EE)] HERNK | 4 (F12) ~ 9 [F12)
PRIEET | 0 [For] ~ 1 [Fo1] . b=k 6 [F12] ~ 12 [F12]
x5BT | 0 [Fo1) ~ 1 [FO1) o #tanEr | 9 (F12) ~ 13 [F12]
i= I BY 1 [Fo1] ~ 17 [Fo3] ERNE | 3 [F12]) ~ 12 [F12]
LRI |16 [Fo37] ~ 19 [F037] TR ET 5 [F12] ~ 8 [F12]
5 FIRET | 0 [Fo3) ~ 19 [F03] RIRHET BEREL
- HHET | 14 [FO3) ~ 20 [F031] EHAT | 3 [F12) ~ 13 [F12)
INTEET |20 [FO37) ~ 32 [Fo03] BEAt 1 [F12F14.S12,F15]) ~ 4 [F12]
B |28 [Fos] ~ 35 [F06] w1787 | 0 [F18] ~ 6 [F14.512F15]
BEMET |12 [Fo6] ~ 25 [Fo6] Z ERHET 1 [F18] ~ 5 [F18]
A¥FMH |11 [Foe] ~ 47 [F06) ST 1 [F18] ~ 5 [F18]
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L+ /=BT | 0 [F18] ~ 5 [F18]
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